
Watt
o‚V

Ampere
,Eis;j

Volt
oksYV

Coulomb
dwyEc

Peak
ihd

Frequency
vko`fÙk

RMS
vkj,e,l

Time period
le; lhek

Superconductor
lqijdaMDVj

Insulator
balqysVj

Semiconductor
lsfedaMDVj
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Q.1. What is the SI unit of electric charge?
fo|qr vkos'k dh SI bdkbZ D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.2. What is the measure of the effective value of an alternating current or
voltage?
çR;korhZ /kkjk ;k oksYVst dk çHkkoh eku D;k ekirk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.3. What type of material is typically used to prevent the flow of electricity in
electrical systems?
fo|qr ç.kkfy;ksa esa fctyh ds çokg dks jksdus ds fy, vkerkSj ij fdl
çdkj dh lkexzh dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

th



Magnet
pqEcd

Gold
lksuk

Copper
rkack

Silver
pk¡nh

Aluminum
vY;qehfu;e

High-voltage power transmission cable
gkbZ&oksYVst ikoj Vªkalfe'ku dscy

Coaxial cable
lek{kh; rkj

Ethernet cable
bZFkjusV dscy

None of these
इनमें से कोई नहीं

Current
djaV

Capacitance
/kkfjrk

Voltage
oksYVst

Resistance
jsftLVsal

D).     

Q.4. Which type of material has the highest electrical conductivity?
fdl çdkj dh lkexzh esa mPpre fo|qr pkydrk gksrh gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.5. Which type of cable would typically have the highest insulation strength?
fdl çdkj dh dscy esa vkerkSj ij lcls vf/kd bUlqys'ku 'kfä
gksxh\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.6. What does the symbol  represent on the dial of a meter?
ehVj ds Mk;y ij  fpUg D;k n'kkZrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.7. What is the voltage output (In volts) of a standard alkaline AA battery?
ekud {kkjh; AA cSVjh dk oksYVst vkmViqV ¼oksYVl esa½ D;k gS\
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1.5

3.7

1.2

Zinc
tLrk

Aluminum
vY;qehfu;e

Iron
yksgk

Lithium
fyfFk;e

Sequential
Øec)

Series-Parallel
J`a[kyk&lekukarj

Series
J`a[kyk

Parallel
lekukarj

Mechanical meter

A).     

B).     [Correct Answer]     

C).     

D).     

Q.8. What is the primary material commonly used as the anode in alkaline
batteries?
{kkjh; cSVfj;ksa esa ,uksM ds :i esa vkerkSj ij mi;ksx fd;k tkus okyk
çkFkfed inkFkZ D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.9. In which type of connection setup are batteries connected end-to-end?
fdl çdkj ds dusD'ku lsVvi esa cSVfj;k¡ var&ls&var rd tqM+h gksrh
gSa\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.10. Name the meter that displays measurements using a pointer on a scale.
ml ehVj dk uke crkb, tks iSekus ij lwpd dk mi;ksx djds eki
çnf'kZr djrk gSA

A).     



;kaf=d ehVj

Digital meter
fMftVy ehVj

Optical meter
v‚fIVdy ehVj

Analog meter
,uky‚x ehVj

Higher bandwidth
mPp cSaMfoM~Fk

Analog signal processing
,uky‚x flXuy çkslsflax

Limited measurement accuracy
lhfer eki lVhdrk

Limited storage capacity
lhfer HkaMkj.k {kerk

Acetone
,lhVksu

Rosin
jksftu

Hydrochloric acid
gkbMªksDyksfjd ,flM

Sodium chloride
lksfM;e DyksjkbM

B).     

C).     

D).     [Correct Answer]     

Q.11. What is one advantage of using the instruments as shown in the below
image?
uhps nh xbZ Nfo esa fn[kk, x, midj.kksa dk mi;ksx djus dk ,d
Qk;nk D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.12. Which material is often used as a flux in soldering?
lksYMfjax esa ¶yDl ds :i esa vDlj fdl lkexzh dk mi;ksx fd;k
tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.13. Which soldering tip shape is best suited for making broad, flat solder
joints?



Blade tip
CysM fVi

Screwdriver tip
ispdl fVi

Chisel tip
Nsuh fVi

Conical tip
dksfudy fVi

Tin-lead alloy
fVu&ysM ,yk;

Zinc
tLrk

Aluminum
vY;qehfu;e

Copper
rkEck

500-1000°C

0-100°C

100-200°C

200-500°C

They are operated by twisting

pkSM+s] likV lksYMj tksM+ cukus ds fy, dkSu lk lksYMfjax fVi vkdkj
lcls mi;qä gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.14. Which solder material is commonly used for electronics soldering due to
its low melting point?
fuEu xyukad ds dkj.k bysDVª‚fuDl lksYMfjax ds fy, vkerkSj ij
fdl lksYMj lkexzh dk mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.15. What is the typical range of temperature settings in a soldering station?
lksYMfjax LVs'ku esa rkieku lsfVaXl dh fof'k"V lhek D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.16. What is a characteristic feature of rocker switches?
j‚dj fLop dh ,d fof'k"V fo'ks"krk D;k gS\

A).     



bUgsa ?kqekdj lapkfyr fd;k tkrk gS

They have a seesaw-like action
buesa >wys tSlh fØ;k gksrh gS

They provide linear motion
os jSf[kd xfr çnku djrs gSa

None of these
इनमें से कोई नहीं

Junction Rule
taD'ku fu;e

Ohm's Rule
vkse dk fu;e

Loop Rule
ywi fu;e

Resistor's Rule
jsflLVj fu;e

Two separate coils
nks vyx d‚bYl

Resistors and capacitors
jsflLVlZ vkSj dSisflVlZ

Transistors and diodes
VªkaftLVj vkSj Mk;ksM

Inductors and capacitors
buMDVlZ vkSj dSisflVlZ

Electric field
fo|qr {ks=

Magnetic field
pqacdh; {ks=

Electrochemical cells
fo|qrjklk;fud lsYl

Conductive medium
daMfDVo ek/;e

B).     [Correct Answer]     

C).     

D).     

Q.17. What is the other name of Kirchhoff's Voltage Law (KVL)?
fdjp‚Q ds oksYVst fu;e (KVL) dk nwljk uke D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.18. Mutual induction occurs between which of the following?
fuEufyf[kr esa ls fdlds chp E;wP;wvy baMD'ku gksrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.19. In an inductor, where is energy stored?
,d çsjd esa] ÅtkZ dgk¡ LVksj gksrh gS\

A).     

B).     [Correct Answer]     

C).     

D).     



It becomes maximum
;g vf/kdre gks tkrk gS

It remains constant
;g fLFkj jgrk gS

It becomes minimum
;g U;wure gks tkrk gS

It becomes zero
og 'kwU; gks tkrk gS

Brushless DC
cz'k jfgr Mhlh

Shunt wound
'kaV okmaM

Series wound
lhjht okmaM

Compound wound
dEikmaM okmaM

Iron
yksgk

Aluminum
vY;qehfu;e

Copper
rk¡ck

Silicon

Q.20. What happens to the impedance of a series LC circuit at resonance?
jstksusal ij J`a[kyk ,ylh lfdZV dh çfrck/kk dks D;k gksrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.21. Which type of DC motor has its armature and field windings connected
in parallel?
fdl çdkj dh DC eksVj dh vkesZpj vkSj QhYM okbafMax lekukarj esa
tqM+h gksrh gSa\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.22. What is the primary material used in the fabrication of semiconductor
devices?
lsehdaMDVj midj.kksa ds fuekZ.k esa ç;qä çkFkfed lkexzh D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     



flfyd‚u

N-type
N&çdkj

P-type
P - प्रकार

  

Intrinsic
bafVªafld

Extrinsic
,DlfVªfUld

1

2

3

4

Autotransformer
v‚VksVªkalQ‚eZj

Step-up transformer
LVsi&mi VªkalQkeZj

Isolation transformer
vyx VªkalQ‚eZj

Step-down transformer
LVsi&Mkmu VªkalQkeZj

Q.23. Which type of semiconductor material has excess electrons as majority
carriers?
fdl çdkj ds v/kZpkyd inkFkZ esa cgqla[;d okgd ds :i esa vfrfjä
bysDVª‚u gksrs gSa\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.24. In a bridge rectifier configuration, how many diodes are used?
fczt jsfDVQk;j d‚fUQxjs'ku esa] fdrus Mk;ksM dk mi;ksx fd;k tkrk
gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.25. Which type of transformer is used to increase voltage?
oksYVst c<+kus ds fy, fdl çdkj ds VªkalQkeZj dk mi;ksx fd;k tkrk
gS\

A).     

B).     [Correct Answer]     

C).     

D).     



Eddy current loss
,ìh djaV y‚l

Hysteresis loss
gkbLVjsfll y‚l

Copper loss
d‚ij y‚l

Dielectric loss
MkbZ bysfDVªd y‚l

Holes
gksYl

Neutrons
U;wVª‚u

Protons
çksVku

Electrons
bysDVª‚Ul

IC

VCE

VBE

IB

Saturation
lSpqjs'ku

Active
,fDVo

Q.26. Which loss in transformers occurs due to the resistance of the
transformer windings?
VªkalQkeZj okbafMax ds çfrjks/k ds dkj.k VªkalQkeZj esa dkSu lh gkfu
gksrh gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.27. In a PNP transistor, what is the majority charge carrier?
ih,uih VªkaftLVj esa] estksfjVh pktZ dfjZ,j D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.28. Which parameter represents the input current of a transistor?
dkSu lk iSjkehVj VªkaftLVj ds buiqV djaV dks n'kkZrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.29. In which region of operation does a transistor act as an amplifier?
v‚ijs'ku ds fdl {ks= esa VªkaftLVj ,d ,EiyhQk;j ds :i esa dk;Z
djrk gS\

A).     

B).     [Correct Answer]     



Cutoff
dV v‚Q

Reverse bias
fjolZ ck;l

Current gain
djaV xsu

Voltage gain
oksYVst c<+uk

Output impedance
vkmViqV इंपीडेंस 

Input impedance
buiqV इंपीडेंस 

Copper
rk¡ck

Silicon
flfyd‚u

Aluminum
vY;qehfu;e

Quartz
DokVZ~t

Ground connection
tehuh dusD'ku

Capacitor
la/kkfj=

Amplifier
,EiyhQk;j

Resistor
jsflLVj

C).     

D).     

Q.30. What does the term "beta" refer to in transistor amplifiers?
VªkaftLVj ,EiyhQk;jksa esa ^chVk* 'kCn dk D;k vFkZ gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.31. Which material is commonly used in the construction of crystal
oscillators?
fØLVy v‚flysVj ds fuekZ.k esa vkerkSj ij fdl lkexzh dk mi;ksx
fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.32. What does a triangle symbol typically represent in an electronic circuit
diagram?
bysDVª‚fud lfdZV vkjs[k esa f=Hkqt çrhd vke rkSj ij D;k n'kkZrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     



Diode
Mk;ksM

Transistor
VªkaftLVj

Capacitor
diSflVj

Resistor
jsflLVj

Streetlights
LVªhV ykbV

Car headlights
dkj dh gsMykbV~l

Remote controls
fjeksV daVªksYl

Neon signs
uhvksu fpà

NOT gate

AND gate

OR gate

XOR gate

3

Q.33. In a diode shunt clipper circuit, which component is responsible for
clipping the signal?
Mk;ksM 'kaV fDyij lfdZV esa flXuy fDyfiax ds fy, dkSu lk ?kVd
ftEesnkj gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.34. In which of the following applications are IR LEDs commonly used?
fuEufyf[kr esa ls fdl vuqç;ksx esa vkbZvkj ,ybZMh dk vkerkSj ij
mi;ksx fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.35. Which logic gate gives an output only when all its inputs are high?
dkSu lk y‚ftd xsV rHkh vkmViqV nsrk gS tc mlds lHkh buiqV
mPp gksa\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.36. In a full adder, how many inputs does it take to perform a complete
addition operation?
,d Qqy ,ìj esa] ,d dEiyhV ,fM'ku dkjZokbZ djus esa fdrus buiqV
yxrs gSa\

A).     [Correct Answer]     



2

1

4

1

2

3

4

Electrostatic Discharge
bysDVªksLVSfVd fMLpktZ

Electrostatic Display
bysDVªksLVSfVd fMLIys

Electronic System Design
bysDVª‚fud flLVe fMtkbu

None of these
इनमें से कोई नहीं

Voltage
oksYVst

Current
djaV

Frequency
vko`fÙk

Inductance, capacitance, & resistance
çsjdRo] /kkfjrk vkSj çfrjks/k

B).     

C).     

D).     

Q.37. How many stable states does an S-R latch have?
,d ,l&vkj ySp dh fdruh fLFkj fLFkfr;k¡ gksrh gSa\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.38. What does ESD stand for?
bZ,lMh dk eryc D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.39. What does an LCR meter measure?
,ylhvkj ehVj D;k ekirk gS\

A).     

B).     

C).     

D).     [Correct Answer]     



Impedance becomes zero
çfrck/kk 'kwU; gks tkrh gS

Impedance increases
çfrck/kk c<+ tkrh gS

Impedance remains constant
çfrck/kk fLFkj jgrh gS

Impedance decreases
çfrck/kk de gks tkrh gS

Variable resistance with applied voltage
ykxw oksYVst ds lkFk ifjorZuh; çfrjks/k

Variable inductance with applied voltage
ykxw oksYVst ds lkFk ifjorZuh; vf/k"Bkiu

Variable capacitance with applied voltage
ykxw oksYVst ds lkFk ifjorZuh; /kkfjrk

None of these
इनमें से कोई नहीं

Maximum power dissipation it can handle
;g vf/kdre fctyh viO;; dks laHkky ldrk gS

Maximum voltage it can handle
vf/kdre oksYVst ftls ;g laHkky ldrk gS

Maximum current it can handle
vf/kdre djaV tks ;g laHkky ldrk gS

None of these
इनमें से कोई नहीं

Q.40. What happens to the impedance of an inductor as the frequency
increases?
ÝhDosalh c<+us ij baMDVj dh çfrck/kk dk D;k gksrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.41. Which property of varactor diodes makes them suitable for frequency
modulation?
osjsDVj Mk;ksM dk dkSu lk xq.k mUgsa vko`fÙk e‚Mîwys'ku ds fy,
mi;qä cukrh gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.42. What does the power rating of a transistor indicate?
VªkaftLVj dh ikoj jsfVax D;k n'kkZrh gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.43. Among the listed power electronic components, which one behaves like
a switch?
lwphc) fo|qr bysDVª‚fud ?kVdksa esa ls dkSu lk fLop dh rjg
O;ogkj djrk gS\



SCR

TRIAC

DIAC

UJT

Number of pins
fiuksa dh la[;k

Lead material
yhM lkexzh

Package dimensions
iSdst MkbeSU'ku

Power dissipation capability
'kfä viO;; {kerk

Signal tuning
flXuy Vîwfuax

Transistor biasing
VªkaftLVj ck;flax

Current regulation
djaV jsxqys'ku

Voltage stabilization
oksYVst LVscykbts'ku

A).     [Correct Answer]     

B).     

C).     

D).     

Q.44. What does the "23" represent in SOT-23 packaging style?
SOT-23 iSdsftax 'kSyh esa "23" D;k n'kkZrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.45. Identify the process of setting the DC operating point of a transistor to
ensure it operates in a stable and desired manner.
;g lqfuf'pr djus ds fy, fd ;g LVscy vkSj fMtk;MZ rjhds ls
lapkfyr gks] VªkaftLVj ds Mhlh v‚ijsfVax fcanq dks lsV djus dh
çfØ;k dh igpku djsaA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.46. Which of the following protects a MOSFET from voltage spikes during
switching?
fuEufyf[kr esa ls dkSu fLofpax ds nkSjku MOSFET dks oksYVst
LikbDl ls cpkrk gS\



Current limiter
djaV fyfeVj

Zener diode
tsuj Mk;ksM

Schottky diode
'kksV~dh Mk;ksM

Snubber circuit
Lucj lfdZV

14

15

16

17

D Flip Flop
D&f¶yi ¶y‚i

RS Flip Flop
RS&f¶yi ¶y‚i

T Flip Flop
T&f¶yi ¶y‚i

JK Flip Flop
JK&f¶yi ¶y‚i

Limited availability
lhfer ek=k esa miyC/k

High power consumption
उच्च शक्ति उपभोग

Inability to amplify signals
ladsrksa dks çof/kZr djus esa vleFkZrk

A).     

B).     

C).     

D).     [Correct Answer]     

Q.47. In hexadecimal, what does the digit 'F' represent in decimal?
gsDlkMsfley esa] vad 'F' n'keyo esa D;k n'kkZrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.48. Which type of flip-flop is commonly used for storing a single bit of data?
MsVk ds ,d fcV dks laxzghr djus ds fy, vkerkSj ij fdl
f¶yi&¶y‚i çdkj dk mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.49. Which of the following is a limitation of operational amplifiers (Op-
Amps)?
fuEufyf[kr esa ls dkSu lh ifjpkyu ,EiyhQk;jksa ¼v‚i&,EIl½ dh ,d
lhek gS\

A).     

B).     

C).     



Low gain bandwidth product
yks xsu cSaMfoM~Fk mRikn

Transistor
VªkaftLVj

Resistor
jsflLVj

Fuse
¶;wt

Capacitor
diSflVj

Drill holes randomly
fMªy ls jSaMEyh gksy djsa

Mark the mounting positions
e‚mafVax iksfl'kUl dks ekdZ djsa

Apply adhesive
,Mgsflo yxk,a

Tighten the screws
LØw VkbV djsa

Hammer
gSej

D).     [Correct Answer]     

Q.50. Which component is used to protect electrical circuits from overcurrent?
fo|qr ifjiFkksa dks vfr/kkjkvksa ls cpkus ds fy, fdl ?kVd dk mi;ksx
fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.51. What is the first step in fixing surface-mounted accessories in a panel
board?
iSuy cksMZ esa lrg ij yxs lkeku dks Bhd djus esa igyk dne D;k
gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.52. Identify the tool shown below that is used for creating mounting holes
in the panel board.
uhps fn[kk, x, Vwy dh igpku djsa ftldk mi;ksx iSuy cksMZ esa
ekmafVax gksy cukus ds fy, fd;k tkrk gSA

A).     



Drill
fMªy

Screwdriver
LØw Mªkboj

Pliers
Iyk;j

Grommets
xzksesV~l

Washers
ok'kj

Nuts
uV~l

Bolts
cksYV

Electrical tape
bysfDVªdy Vsi

Solder
lksYMj

Adhesive
,Mgsflo

Cable ties
dscy Vkbl

B).     [Correct Answer]     

C).     

D).     

Q.53. Which accessory is shown below that is used to protect the edges of the
panel board cut-outs?
uhps dkSu lk lgk;d midj.k fn[kk;k x;k gS ftldk mi;ksx iSuy
cksMZ dV&vkmV ds fdukjksa dh lqj{kk ds fy, fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.54. What is used to secure loose wires to the panel board?

पैनल बोर्ड में ढीले तारों  को सुरक्षित करने के  लिए
किसका उपयोग किया जाता है?

A).     

B).     

C).     

D).     [Correct Answer]     



Voltmeter
oksYVehVj

Ammeter
,ehVj

Multimeter
eYVhehVj

Ohmmeter
vksãehVj

The color of wires
ok;j dk jax

Battery life in the multimeter
eYVhehVj esa cSVjh ykbQ

Ambient lighting
,fEc,aV ykbfVaax

None of these
इनमें से कोई नहीं

Connect to a power source
fdlh ikoj lkslZ ls dusDV djuk

Set to the highest resistance range
gkbZ,LV jsflLVsUl jsat ij lsV djuk

Adjust the zero ohm adjustment
'kwU; ओम ,MtLVesaV dks ,MtLV djuk

Turn on the multimeter
eYVhehVj pkyw djuk

Q.55. Which device is used to check the continuity of the wiring after
installation?
baLVkys'ku ds ckn ok;fjax dh fujarjrk dh tkap djus ds fy, fdl
midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.56. Which factor can affect accuracy in the voltage drop method?
dkSu lk QSDVj oksYVst Mª‚i esFkM esa lVhdrk dks çHkkfor dj ldrk
gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.57. What is the first step in calibrating an analog multimeter?
,uky‚x eYVhehVj dks dSfyczsV djus esa igyk dne D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.58. What is the purpose of the mirror on some analog multimeter scales?
dqN ,uky‚x eYVhehVj Ldsy ij fejj dk mís'; D;k gS\



Decoration
Msdksjs'ku

Increase visibility in low light
de jks'kuh esa foftfcfyVh c<+kuk

Magnify the scale
Ldsy dks cM+k djuk

Reduce parallax errors
iSjkySDl ,jlZ dks de djuk

Ammeter
,ehVj

Voltmeter
oksYVehVj

Ohmmeter
vksã ehVj

Wattmeter
okVehVj

Refractometer
jsÝsDVksehVj

pH meter
pH ehVj

Conductivity meter
daMfDVfoVh ehVj

Hydrometer
gkbMªksehVj

A).     

B).     

C).     

D).     [Correct Answer]     

Q.59. Which instrument is shown below that is used to measure the voltage of
a battery?
uhps dkSu lk midj.k fn[kk;k x;k gS ftldk mi;ksx cSVjh ds
oksYVst dks ekius ds fy, fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.60. Which instrument is specifically used to measure the specific gravity of
battery acid?
cSVjh ,flM ds LisflfQd xzsfoVh dks ekius ds fy, fo'ks"k :i ls fdl
midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     



Anvil
,ufoy

Thimble
fFkEcy

Spindle
fLiaMy

Frame
Ýse

Length
yackbZ

Diameter
Mk;ehVj

Conductivity
daMfDVfoVh

Insulation thickness
bUlqys'ku dh eksVkbZ

It's thinner
;g iryk gS

It's more flexible
;g vf/kd ¶ysfDlcy gS

It's thicker
;g vf/kd eksVk gS

None of these
इनमें से कोई नहीं

Q.61. Which part of the micrometer is used to hold the wire during the
measurement?
eki ds nkSjku rkj dks idM+us ds fy, ekbØksehVj ds fdl Hkkx dk
mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.62. The Standard Wire Gauge (SWG) system is used to measure wires based
on which of the given properties?
LVSaMMZ ok;j xst (SWG) flLVe dk mi;ksx rkjksa dks muds fn, x,
fdl xq.k ds vk/kkj ij ekius ds fy, fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.63. What does a smaller SWG number indicate about a wire's diameter?

,d NksVk SWG uacj ok;j ds Mk;ehVj ds ckjs esa D;k n'kkZrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.64. Which part of the DSO is used to select different menu options?
fofHkUu esuw fodYiksa dk p;u djus ds fy, DSO ds fdl Hkkx dk
mi;ksx fd;k tkrk gS\



Vertical position knob
oVhZdy iksth'ku u‚c

Soft keys
l‚¶V dht+

Power button
ikoj cVu

Trigger level knob
fVªxj ysoy u‚c

Intensity knob
baVsfUlVh u‚c

Focus knob
Qksdl u‚c

Scale knob
Ldsy u‚c

Position knob
iksth'ku u‚c

Increase voltage
oksYVst c<+kuk

Decrease voltage
oksYVst ?kVkuk

Convert AC to DC
AC dks DC esa cnyuk

Store electrical energy
bysfDVªdy ,uthZ dks LVksj djuk

Audio transformer
v‚fM;ks VªkalQkeZj

Power transformer
ikoj VªkalQkeZj

A).     

B).     [Correct Answer]     

C).     

D).     

Q.65. Which control adjusts the brightness of the DSO display?
dkSu lk fu;a=.k DSO fMLIys dh ped dks ,MtLV djrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.66. What is the primary function of a step-down transformer?
LVsi&Mkmu VªkalQkeZj dk çkFkfed dk;Z D;k gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.67. What type of transformer is used for impedance matching in audio
systems?
v‚fM;ks flLVe esa bEihMsUl eSp djus ds fy, fdl çdkj ds
VªkalQkeZj dk mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     



Distribution transformer
fMLVªhC;w'ku VªkalQkeZj

None of these
इनमें से कोई नहीं

Lead solder
ysM lksYMj

Acid-core solder
,flM&dksj lksYMj

Silver solder
flYoj lksYMj

Plumbing solder
Iyafcax lksYMj

Resistor
jsflLVj

Capacitor
dSisflVj

Transistor
VªkaftLVj

Wire connector
ok;j dusDVj

Chisel tip
fplsy fVi

Bevel tip
csoy fVi

Conical tip
dksfudy fVi

Knife tip
ukbQ fVi

C).     

D).     

Q.68. Which type of solder is most commonly used for electronic soldering?
bysDVª‚fud lksYMfjax ds fy, fdl çdkj dk lksYMj lcls vf/kd
mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.69. Which component requires a heat sink while soldering?
lksYMfjax djrs le; fdl daiksusaV dks ghV flad dh vko';drk gksrh
gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.70. What is the ideal tip shape for soldering small electronic components?
NksVs bysDVª‚fud daiksusaV~l dks lksYMj djus ds fy, fVi dk vkn'kZ
vkdkj D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     



Increasing DC voltage
DC oksYVst c<+kuk

Decreasing resistance
jsflLVsal de djuk

Adjusting AC voltage
AC oksYVst dks ,MtLV djuk

None of these
इनमें से कोई नहीं

Reuse in other projects
vU; çkstsDV~l esa iqu% mi;ksx

Store indefinitely
vfuf'pr dky rd LVksj djuk

Recycle appropriately
mfpr rjhds ls iqujko`fr djuk

None of these
इनमें से कोई नहीं

Carbon Film
dkcZu fQYe

Wirewound
ok;j oqaM

Metal Oxide
esVy v‚DlkbM

Varistor
oSfjLVj

Q.71. What is a Variac primarily used for in electronics?
bysDVª‚fuDl esa eq[; :i ls osfj,d dk mi;ksx fdlds fy, fd;k
tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.72. What should be done with defective PCBs that cannot be repaired?

ftu nks"kiw.kZ PCBs dks fjis;j ugha fd;k tk ldrk muds lkFk D;k
fd;k tkuk pkfg,\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.73. What type of resistor is best used for general-purpose circuits due to its
reliability and cost-effectiveness?
fdl çdkj dk jsflLVj mldh fjyk;fcfyVh vkSj ykxr&çHkko'khyrk
ds dkj.k lkekU; ç;kstu lfdZV ds fy, lcls vPNk mi;ksx fd;k
tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.74. Which type of resistor is shown below that changes its resistance with
temperature?



Thermistor
FkfeZLVj

Photoresistor
QksVksjsflLVj

Varistor
oSfjLVj

Potentiometer
iksVsaf'k;ksehVj

Red
yky

Black
dkyk

Brown
Hkwjk

Orange
ukjaxh

First digit
igyk vad

Second digit
nwljk vad

Tolerance
V‚yjsal

Multiplier
eYVhIyk;j

uhps fdl çdkj dk jsflLVj fn[kk;k x;k gS tks VsEijspj ds lkFk
viuk jsflLVsUl cnyrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.75. Which color represents the digit '0' in resistor color codes?
jsflLVj jax dksM esa dkSu lk jax ^0* vad dks n'kkZrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.76. What is the significance of the gold band in resistor color codes?
jsflLVj jax dksM esa lksus ds cSaM dk D;k egRo gS\

A).     

B).     

C).     [Correct Answer]     

D).     



Oscilloscope
v‚flyksLdksi

Multimeter
eYVhehVj

Logic analyzer
y‚ftd ,ukykbtj

Spectrum analyzer
LisDVªe ,ukykbtj

BNC connector
BNC dusDVj

RJ-45 connector
RJ-45 dusDVj

HDMI connector
HDMI dusDVj

None of these
इनमें से कोई नहीं

 

By its voltage
blds oksYVst }kjk

By its Q factor
blds Q QSDVj }kjk

By its wattage

Q.77. Identify the tool shown below that helps in visualizing the waveform of
an electronic signal in simulation software.
uhps fn[kk, x, Vwy dks igpkusa tks fleqys'ku l‚¶Vos;j esa
bysDVª‚fud flXuy ds oso Q‚eZ dks ns[kus esa enn djrk gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.78. Which type of connector might be used with a twisted pair cable?
V~oLVsM isvj dscy ds lkFk fdl çdkj ds dusDVj dk mi;ksx fd;k
tk ldrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.79. How is the quality of an inductor assessed?
fdlh baMDVj dh xq.koÙkk dk ewY;kadu dSls fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     



bldh o‚V {kerk ls

By its current rating
bldh djaV jsfVax ds vuqlkj

L

C

R

I

Electrolytic Capacitor
bysDVªksykbfVd dSisflVj

Ceramic Capacitor
fljsfed dSisflVj

Film Capacitor
fQYe dSisflVj

Tantalum Capacitor
VSaVye dSisflVj

Resistor
vojks/kd

Wire
rkj

Lug
yqx

LED

When it is dull and cracked
tc ;g My vkSj ØSDM gks

D).     

Q.80. What is the typical symbol for inductance?
baMDVsal dk fof'k"V flacy D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.81. Which capacitor type has the longest lifespan?
fdl çdkj ds dSisflVj dk thoudky lcls yack gksrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.82. Which component should not be directly held by hand while soldering?
lksYMfjax djrs le; fdl d‚EiksusUV dks lh/ks gkFk ls ugha idM+uk
pkfg,\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.83. When is a solder joint considered to be good?
lksYMj t‚baV dks dc vPNk ekuk tkrk gS\

A).     



When it is rough to the touch
tc ;g Nwus esa [kqjnjk gks

When it is shiny and smooth
tc ;g 'kkbuh vkSj LewFk gks

None of these
इनमें से कोई नहीं

Apply solder
lksYMj yxkuk

Remove excess solder
vfrfjä lksYMj gVk nsuk

Heat the soldering iron
lksYMfjax vk;ju dks xeZ djuk

Clean the board
cksMZ lkQ djuk

Resistor
jsflLVj

Capacitor
dSisflVj

Inductor
baMDVj

Transformer
VªkalQkeZj

Increased cable length
dscy dh yackbZ esa o`f)

Decreased signal quality
flXuy xq.koÙkk esa deh

Brighter cable color
czkbV dscy dyj

B).     

C).     [Correct Answer]     

D).     

Q.84. What is the function of a desoldering pump?
MhlksYMfjax iai dk D;k dk;Z gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.85. Which component is essential to limit the current flowing through the
base of a transistor in a switching circuit?
,d fLofpax lfdZV esa VªkaftLVj ds vk/kkj ds ek/;e ls cgus okyh
/kkjk dks lhfer djus ds fy, dkSu lk ?kVd vko';d gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.86. What could be a consequence of using an improperly calibrated
crimping tool?
vuqfpr rjhds ls dSfyczsVsM fØfEiax Vwy dk mi;ksx djus dk D;k
ifj.kke gks ldrk gS\

A).     

B).     [Correct Answer]     

C).     



None of these
इनमें से कोई नहीं

CB

CE

CC

Both CB and CE
CB vkSj CE nksuksa

Upward
Åij dh vksj

Downward
uhps dh vksj

Leftward
ck;ha vksj

Rightward
nkfguh vksj

RC Oscillator
RC v‚flysVj

LC Oscillator
LC v‚flysVj

Crystal Oscillator
fØLVy v‚flysVj

Voltage-Controlled Oscillator
oksYVst&fu;af=r v‚flysVj

D).     

Q.87. In which amplifier configuration does the emitter serve as the common
terminal?
fdl ,EiyhQk;j d‚fUQxjs'ku esa ,feVj d‚eu VfeZuy ds :i esa
dk;Z djrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.88. For a negative clamper circuit, the output waveform will be shifted
_______.
,d usxsfVo DySEij lfdZV ds fy,] vkmViqV osoQ‚eZ dks
&&&&&&&&& f'k¶V fd;k tk,xkA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.89. Which oscillator utilizes a piezoelectric effect to stabilize the frequency?
dkSu lk v‚flysVj ÝhDosalh dks fLFkj djus ds fy, ihtksbysfDVªd
çHkko dk mi;ksx djrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     



One
,d

Two
nks

Three
rhu

Four
pkj

To control the discharge time of the capacitor
dSisflVj ds fMLpktZ le; dks fu;af=r djus ds fy,

To provide a path for current flow
djaV ¶yks ds fy, ,d iFk çnku djuk

To control the charging time of the capacitor
dSisflVj ds pkftaZx le; dks fu;af=r djus ds fy,

None of these
इनमें से कोई नहीं

Maximum power dissipation
eSfDlee i‚oj fMflis'ku

Ratio of resistances in the emitter
,feVj esa jsftLVsal dk vuqikr

Forward voltage drop
Q‚joMZ oksYVst Mª‚i

Ratio of voltages dividing the interbase voltage
baVjcsl oksYVst dks fMokbM djus okys oksYVst dk vuqikr

Q.90. A bistable multivibrator has how many stable states?
,d ckbZLVscy eYVhokbczsVj esa fdrus fLFkj voLFkk,¡ gksrh gSa\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.91. What is the role of the resistor in a UJT relaxation oscillator?

UJT fjySDls'ku v‚flysVj esa jsflLVj dh D;k Hkwfedk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.92. What does the intrinsic standoff ratio  in a UJT indicate?

UJT esa bfUVªafld LVsaMM‚Q js';ks  D;k n'kkZrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.93. For adjusting the frequency of oscillation in a UJT oscillator, which
component should be varied?

UJT v‚flysVj esa v‚flysVj dh ÝhDosalh dks ,MtLV djus ds fy,]
fdl d‚EiksusUV dks vyx fd;k tkuk pkfg,\



The emitter bypass capacitor
,feVj ck;ikl dSisflVj

The interbase resistor
baVjcsl jsflLVj

The charging resistor
pkftaZx jsflLVj

The timing capacitor
Vkbfeax dSisflVj

Blue LED
uhyh LED
RGB LED

IR LED

White LED
lQsn LED

Cable material
dscy eVsfj;y

Connector brand
dusDVj czkaM

Cable diameter
dscy Mk;ehVj

Insulation type
bUlqys'ku Vkbi

Cracked solder
ØSDM lksYMj

Rough surface
jQ ljQsl

Shiny and smooth
'kkbuh vkSj LewFk

A).     

B).     

C).     

D).     [Correct Answer]     

Q.94. Which type of LED is commonly used in remote controls?

fjeksV daVªksy esa vkerkSj ij fdl çdkj dh LEDs dk mi;ksx fd;k
tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.95. Which factor does not affect the choice of crimping tool?
dkSu lk dkjd fØfEiax Vwy dh p‚bl dks çHkkfor ugha djrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.96. Which of the following is a sign of a good solder joint?
fuEufyf[kr esa ls dkSu lk ,d vPNs lksYMj t‚baV dk ladsr gS\

A).     

B).     

C).     [Correct Answer]     

D).     



None of these
इनमें से कोई नहीं

The anode
,uksM

The cathode
dSFkksM

The lens
ysal

The semiconductor
lseh&daMDVj

7400

7402

7404

7408

7400

7402

7404

7408

Q.97. Identify the LED component shown below that is responsible for
focusing the light.

uhps fn[kk, x, LED ?kVd dh igpku djsa tks çdk'k dks dsafær
djus ds fy, ftEesnkj gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.98. Which IC is commonly used as a quad two-input NAND gate?
dkSu lk IC vkerkSj ij DokM Vw&buiqV NAND xsV ds :i esa mi;ksx
fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.99. Which IC configuration is used as a quad two-input AND gate?
dkSu lk IC vkerkSj ij DokM Vw&buiqV vkSj AND xsV ds :i esa
mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     



Amplifier
,EiyhQk;j

OR gate
OR xsV

Transformer
VªkalQkeZj

Diode
Mk;ksM

Body language

Active listening

Written communication

Verbal communication

Childs

Childrens

Children

Childer

Occassion

Occasion

Ocasioon

Ocasssion

visible

Q.100. Which of these is a basic digital logic gate?
buesa ls dkSu lk ,d csfld fMftVy y‚ftd xsV gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.101. Which aspect of communication involves speaking clearly and
effectively?

A).     

B).     

C).     

D).     [Correct Answer]     

Q.102. Plural form of the word "child" is _______.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.103. Identify the correctly spelled word.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.104. The antonym of the word 'transparent' is __________.

A).     



translucent

clear

opaque

adapte

adabt

adatp

adapt

precice

precize

precise

preecize

decelerate

rush

hasten

quicken

lazy

intelligent

B).     

C).     

D).     [Correct Answer]     

Q.105. Direction: Fill in the blank

It's important to __________ to new regulations quickly.

A).     

B).     

C).     

D).     [Correct Answer]     

Q.106. Direction: Fill in the blank

To achieve accuracy, one must be __________.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.107. To 'accelerate' means to speed up. Its antonym is _______.

A).     [Correct Answer]     

B).     

C).     

D).     

Q.108. Direction: Fill in the blank

He is known for his _______ mind, and always comes up with clever
solutions.

A).     

B).     [Correct Answer]     



confused

dull

Creative Content

Carbon Copy

Correct Context

Complex Code

Scratching the head

Rubbing palms together

Clapping hands

Thumbs up

Phone calls

Face-to-face meetings

Emails

Instant messaging

At the beginning

In the middle

At the end

Anywhere in the sentence

Colon (:)

C).     

D).     

Q.109. In written communication, what does the term "CC" typically stand for?

A).     

B).     [Correct Answer]     

C).     

D).     

Q.110. Which gesture is commonly used to indicate confusion or uncertainty?

A).     [Correct Answer]     

B).     

C).     

D).     

Q.111. Which communication channel is considered the most formal?

A).     

B).     [Correct Answer]     

C).     

D).     

Q.112. Where is the 'wh' word typically placed in a question?

A).     [Correct Answer]     

B).     

C).     

D).     

Q.113. Which punctuation mark is used to separate the introductory phrase
from the main clause of a sentence?

A).     



Semicolon (;)

Period (.)

Comma (,)

21 R

25 N

27 Q

27 P

5

7

9

13

SBODIJ

SCOEJI

QBPEHK

QCEOIJ

B).     

C).     

D).     [Correct Answer]     

Q.114. Complete the given series:

nh xbZ J`a[kyk dks iwjk djsa%

3 F, 6 G, 11 I, 18 L, ‘?’

A).     

B).     

C).     

D).     [Correct Answer]     

Q.115. Find the odd one out in the given series:

nh xbZ J`a[kyk esa ls cstksM+ dks <wa<sa%

3, 5, 7, 9, 11, 13

A).     

B).     

C).     [Correct Answer]     

D).     

Q.116. If in a certain code language, KOLKATA is coded as LPMLBUB, how
RANCHI will be coded in that code language?
;fn ,d fuf'pr dksM Hkk"kk esa] KOLKATA dks LPMLBUB ds :i esa
dksfMr fd;k tkrk gS] rks ml dksM Hkk"kk esa RANCHI dks dSls dksM
fd;k tk,xk\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.117. If X is the brother of the son of Y’s son, how is X related to Y?



Son
iq=

Brother
HkkbZ

Father
firk

Grandson
iksrk

North-east
mÙkj&iwoZ

North-west
mÙkj&if'pe

South-east
nf{k.k&iwoZ

South-west
nf{k.k&if'pe

Nephew
Hkrhtk

Brother
HkkbZ

Cousin
ppsjk HkkbZ

None of these
buesa ls dksbZ ugha

22

;fn X, Y ds iq= ds iq= dk HkkbZ gSA X dk Y ls D;k laca/k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.118. If A is to the south of B, and C is to the east of B, then in which direction
is A with respect to C?
;fn A, B ds nf{k.k esa gS] vkSj C, B ds iwoZ esa gS] rks C ds laca/k esa A
fdl fn'kk esa gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.119. Rhea introduces Raman as the son of the brother of her mother. How is
Raman related to Rhea?
fj;k us jeu dk ifjp; viuh eka ds HkkbZ ds csVs ds :i esa djk;kA
jeu dk fj;k ls D;k laca/k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.120. What is the next number in the sequence: 12, 15, 17, 20, ...?
vuqØe esa vxyh la[;k D;k gS% 12] 15] 17] 20] ---\

A).     [Correct Answer]     



20

24

21

Sofa
lksQk

Stool
LVwy

Lamp
ySEi

Chair
dqlhZ

15

14

12

10

MAHUHAM

AOVZVOA

HITNTIH

VHRTRVH

B).     

C).     

D).     

Q.121. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.
fn, x, ç'u esa fn, x, pkj fodYiksa esa ls rhu fodYiksa ds chp ,d
fuf'pr laca/k gSA pkSFkk fodYi [kkstsa tks lacaf/kr ugha gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.122.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.123. Which of the following group (In Answer Options) of English letters will
look the same in the mirror?
fuEufyf[kr esa ls vaxzsth v{kjksa dk dkSu lk lewg ¼mÙkj fodYi esa½
niZ.k esa ,d tSlk fn[ksxk\

A).     [Correct Answer]     

B).     

C).     

D).     



Reena
jhuk

Ananya
vuU;k

Mohini
eksfguh

Gauri
xkSjh

T

R

S

Q

Screw
isap

Hammer
gFkkSM+k

Needle
lqbZ

Nail
dhy

Q.124. Five girls took part in a race. Reena finished before Mohini but behind
Gauri. Ananya finished before Sanchi but behind Mohini. Who won the
race?
,d nkSM+ esa ik¡p yM+fd;ksa us Hkkx fy;kA jhuk] eksfguh ls igys ysfdu
xkSjh ds ihNs jghA vuU;k] lkaph ls igys ysfdu eksfguh ls ihNs jghA
nkSM+ fdlus thrh\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.125. Six ladies P, Q, R, S, T and U are sitting around a round table. Q is
between S and R. P is between T and R. U is to the right of S. Who is
between P and U?

Ng efgyk,¡ P, Q, R, S, T vkSj U ,d xksy est ds pkjksa vksj cSBh gSaA Q, S vkSj R ds
chp gSA P, T vkSj R ds chp gSA U, S ds nkbZa vksj gSA P vkSj U ds chp dkSu gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.126. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.
fn, x, ç'u esa fn, x, pkj fodYiksa esa ls rhu fodYiksa ds chp ,d
fuf'pr laca/k gSA pkSFkk fodYi [kkstsa tks lacaf/kr ugha gSA

A).     

B).     [Correct Answer]     

C).     

D).     



4

3

5

6

90 degrees

270 degrees

360 degrees

180 degrees

18

19

20

21

2

4

10

6

16

Q.127. If 3x + 4 = 16, what is the value of x?

;fn 3x + 4 = 16 rks x dk eku D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.128. What is the total of the internal angles in a triangle?
,d f=Hkqt esa vkarfjd dks.kksa dk dqy ;ksx fdruk gksrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.129. What is the next prime number after 17?
17 ds ckn vxyh vHkkT; la[;k dkSu lh gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.130. The binary system uses how many digits?
ckbujh flLVe fdrus vadksa dk mi;ksx djrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.131. What is the LCM of 8 and 12?
8 vkSj 12 dk LCM D;k gS\

A).     



20

30

24

12.5

25

125

80

150 cubic cm
150 ?ku lseh

175 cubic cm
175 ?ku lseh

125 cubic cm
125 ?ku lseh

200 cubic cm
200 ?ku lseh

1450

1276

1170

1336

B).     

C).     

D).     [Correct Answer]     

Q.132. If 40% of a number is 20, then 25% of that number is_______.
;fn fdlh la[;k dk 40%] 20 gS] rks ml la[;k dk 25%] &&&&&&&&& gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.133. Imagine, you have a cube-shaped box, and each side of this box
measures 5 centimeters. What would be the total amount of space or
volume inside this box?
dYiuk dhft, fd vkids ikl ,d ?ku ds vkdkj dk c‚Dl gS] vkSj
bl c‚Dl dh çR;sd Hkqtk dh eki 5 lsaVhehVj gSA bl c‚Dl ds
vanj dqy txg ;k vk;ru fdruk gksxk\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.134. If a = 19 and b = 33, what is the value of a² + b²?
;fn a = 19 vkSj b = 33 gS] rks a² + b² dk eku D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.135. In a survey, 60% of people preferred tea over coffee. If 300 people were
surveyed, how many preferred tea?
,d losZ esa 60% yksxksa us d‚Qh dh txg pk; dks çkFkfedrk nhA ;fn 300 yksxksa dk
losZ{k.k fd;k x;k] rks fdrus yksxksa us pk; ilan dh\



180

120

150

200

150

210

220

180

20

5

10

15

Evaporation
ok"ihdj.k

Sublimation
ऊध्र्वपातक

Melting
xyu

Condensation
daMsals'ku

A).     [Correct Answer]     

B).     

C).     

D).     

Q.136. If a train travels at a speed of 60 kilometers per hour, how many
kilometers will it travel in 3 hours?
;fn ,d jsyxkM+h 60 fdyksehVj çfr ?kaVs dh xfr ls pyrh gS] rks
og 3 ?kaVs esa fdrus fdyksehVj dh ;k=k djsxh\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.137. You're measuring the perimeter of a square-shaped garden, and you
find it to be 40 meters.
How long would each side of this square garden be (In meters)?
vki ,d pkSdksj vkdkj ds cxhps dh ifjf/k eki jgs gSa] vkSj vkidks ;g 40 ehVj feyrk gSA
bl oxkZdkj m|ku dh çR;sd Hkqtk fdruh yach ¼ehVj esa½ gksxh\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.138. What is the term used to describe the transformation of water into
vapor?
ty ds ok"i esa ifjorZu dk o.kZu djus ds fy, fdl 'kCn dk ç;ksx
fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     



Ohm
vkse

Watt
o‚V

Volt
oksYV

Ampere
,fEi;j

Solar
lkSj

Coal
dks;yk

Natural Gas
çk—frd xSl

Petroleum
isVªksfy;e

10

7

5

14

Earth
i`Foh

Jupiter
c`gLifr

Q.139. What is the standard unit used to measure electric current?
fo|qr /kkjk dks ekius ds fy, ç;qä ekud bdkbZ D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.140. Which of these options represents a sustainable energy source?
buesa ls dkSu lk fodYi ,d LFkk;h ÅtkZ lzksr dk çfrfuf/kRo djrk
gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.141. You were testing a solution that is neither acidic nor basic.
What pH value would you expect to find?
vki ,d ,sls lek/kku dk ijh{k.k dj jgs Fks tks u rks vEyh; gS vkSj u gh {kkjh;A
vki fdl ih,p eku dks ikus dh mEehn djsaxs\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.142. Which planet is known as the "Red Planet"?
fdl xzg dks ^yky xzg* ds uke ls tkuk tkrk gS\

A).     

B).     



Venus
'kqØ

Mars
eaxy xzg

Random Access Memory
jSaMe ,Dlsl eseksjh

Read-Only Memory
jhM vksuyh eseksjh

Remote Access Manager
fjeksV ,Dlsl eSustj

Real-time Analysis Module
fj;y Vkbe ,ukfyfll e‚Mîwy

Checking
psfdax

Caution
lko/kkuh

Careful
lrdZ

Customer
xzkgd

Netherlands
uhnjySaM

Spain
Lisu

Portugal
iqrZxky

France
Ýkal

C).     

D).     [Correct Answer]     

Q.143. What does RAM stand for in computing?
daI;wfVax esa RAM dk D;k vFkZ gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.144. What does 'C' stand for in the banking/financial term KYC?
cSafdx@foÙkh; VeZ dsokbZlh esa ^lh* dk mís'; D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.145. The Indian state of Goa was a former colony of which European
country?
Hkkjrh; jkT; xksok fdl ;wjksih; ns'k dk iwoZ mifuos'k Fkk\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.146. Which river is known as the "Ganga of the South"?



Yamuna
;equk

Godavari
xksnkojh

Kaveri
dkosjh

Narmada
ueZnk

1947

1857

1905

1885

C. V. Raman
lh oh jeu

Amartya Sen
veR;Z lsu

Rabindranath Tagore
johUæukFk VSxksj

Mother Teresa
enj Vsjslk

Carbon
dkcZu

Oxygen
v‚Dlhtu

Hydrogen
gkbMªkstu

Silicon
flfyd‚u

dkSu&lh unh ^nf{k.k dh xaxk* ds uke ls tkuh tkrh gS \

A).     

B).     

C).     [Correct Answer]     

D).     

Q.147. The Indian National Congress was founded in which year?
Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk fdl o"kZ gqbZ Fkh\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.148. Who was the first Indian to win the Nobel Prize?
ukscsy iqjLdkj thrus okys igys Hkkjrh; dkSu Fks\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.149. Which element is the most abundant in the Earth's crust?
i`Foh dh iiM+h esa dkSu lk rRo lcls vf/kd ek=k esa ik;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     



Loktak Lake
yksdVd >hy

Sambhar Lake
lkaHkj >hy

Chilika Lake
fpYdk >hy

Dal Lake
My >hy

Q.150. Which lake in India is known for its floating islands?
Hkkjr dh dkSu lh >hy vius ¶yksfVax vkbySaM~l ds fy, tkuh tkrh
gS\

A).     [Correct Answer]     

B).     

C).     

D).     


